ZI& 4

8 I / I 6 3 I 2 I 1
DOC.NR. REV DATE BY DESCRIPTION
A | 16-12-2016 PB ITEM 3 ADDED (STICKER E0013844)
EDAR304202 | B 23-3-2023 DK SOURCE CODE ADDED, LIFTING TOOL ADDED
MOUNTING OF LIFTING TOOLS CHANGED.
EDAR304202 | C 29-4-2025 PB EARTHING METHOD CHANGED.
F o HOLES D25 (4x) ADDED.
> 2 M8 x12 (2x) S 138
o N Lo ~
® Y
_ ©
@ O
© ©——105
E
o o
— N~ N
™ <t
D
@25 -6 DEEP (4x)
M8x1.25 - 6H - 10 DEEP (6x) O —345
@/ ©——35
@ @ —_—
°°. )
S b
: B
5 m PUR CABLE
© O G (®)
300
B
9 4 90.1308012 BOLT, HEX M8x12-A4 M8 x12
TRANSPORT 4 2 E0158384 HDTA-LIFTING TOOL
[ﬁ] 3 | 2 | E0013844 HDTA-STICKER DOUBLE ARROW
2 1 P210013 HDTA-STICKER EDTR
. 1 1 A190334 HDTA-FINISHING DRAW. DEMAG. TABLE
2 ITEM| QTY | PART NUMBER DESCRIPTION Dimensions
] RAW | 1
MAT. Quantit Material I\iumbgr Material Description Length (mm)| Width (mm)
@—E Sheet: A2 E)grlIa/ng)l:\lETIZATION TABLE General tolerance: 1SO 2768- MK
Drawn: Weight (kg): Drawn according:
— BS 105] Duty cycle: 100% 1SO286; 1ISO1101; 1ISO2553
Date: Status:
25-7-2013 . = Standard
A 320 Spare part: Source: Gou DSM IT Customer reference number:
False MC-C MAGNETICS
Quick search: ® ALll rights reserved. Reproduction is not permitted without Document number: Doc.Rev:
41 0 (L|FT|NG TOOL’ 2X) EDAR4230 written permission of GOUDSMIT Magnetic Systems BV EDAR304202 C
Description: Part number: Rev:
HDTA-0420x0300-230V-B EDAR304202 C
8 I 7 I § 3 I 2 I 1



